[image: ]
[image: C:\Users\Tony\Desktop\2017.jpg]
[image: C:\Users\Tony\Desktop\2018.jpg]
[image: C:\Users\Tony\Desktop\2019.jpg]
[image: C:\Users\Tony\Desktop\2020.jpg]
[image: C:\Users\Tony\Desktop\2021.jpg]
[image: C:\Users\Tony\Desktop\2022.jpg]
[image: C:\Users\Tony\Desktop\2023.jpg]
[bookmark: _GoBack][image: C:\Users\Tony\Desktop\2024.jpg]
image7.jpeg
SQC\(O -+ On —> Se O ‘\“&QC‘_IL

10
8en e\
A= 1 CA\: 2xd=b
RN oz
I.] CHa t 02 — CO. +(2)=2O
A
C o\ Byt
H‘"Ar R Zx2=4
0% 2 Oz + W= 3 4
\2. | o ava” £/ L1~ -  Nacl
A /
13, (4 1 (3)02 —UR)ALLDs
AN v g
Alc x4 =& AT L w3 = &
0: 2x3=0 OrJxAZ ©
\4 No + (AR=z  —(apis
N, N
Nz 2 N X2 =2
B> 2235w H = 3xd=
\S. RCO,%;) + \"l‘r'\z":,f\)‘s — Cate oy + 310
(iD= (%
O\ xd=%2 0:\x®=9 .
W2y = 24 wrs %6" oS

34





image8.jpeg
Lo FeOo -*\;3&0 ¥ oife: __“\%C{O_L,g —
T Bt bt A T D
0’3 « ?,'Z/‘Hfru o YV . SvE o
O =2~ C - | wd=ax3 =3
win )Hlso4 *_PolgHly = Po(Sos: + (Ao

+\,:—’;2 4 4= 2 H~ AxG =%
D04 Lxx =2 SCes 2
P> | - B 74 72 W 1. e
- 4 o O: [%4=4
ELA s XA = @M, + GR,
A\ L e AL I1x2=)
Y - \x—?«—ﬁxb o B 2%x3-©
Cl 2\ p—3xb - CA:3x2=b
91 2 €0, (P0a), + 41%SO,. — 40aS04 *QCa(Hy'\VOQ
! . R
Ca®3x2=06 co V4 7 7,
POA\;t Zxd=4 , POy Z y2 -4
Hy ded=a ¥4=4  H, :Z2y2-4 J
SO4 +\ ¥o=24 =y S04 |14 -4
=y 2 ; 5
1 CaaP0q ), +@QP2Sos —4{2)as0s + Ca G fly),
D % e A L





image9.jpeg
20/ HzPOs *(gHCL —>  Plg + (4H20
'R + 1O = HS R 2x4:=%
i 'P\ » P-\ 3
| O:4 O ix4=4
Ll e =5 (=)





image1.png
/

g /?’ e e i

Return of the Lego Atoms Objectre:
L Tnlago et st i oo it SWBAT writ banced
reresn G0 o
2 A ctom con b cled D on - AUGHINS o describe
ey bcae 1t ctonscs Tt <hemical recctions. 5.
5. Whet s s 10 eeesn he meber fctons i he ks> S50

4. Wen o comacd e g bricks,we i hy mers ot by
whar? LML bore 2
o n_LS1C b o etwen Y061 i and A g,
. CoVLLTT o frme bt MLOTVACIL o o
A Soctall1C o frnebewesn et nd amer.
5 The o schame for o e .
[
[Rirgen
Oz
[ Pene g v

foemt

. Plase s e Tegs o represet he followirgchical eunion

Incoon)
el

e Tt oo st s s oot s st s
. i T s e e o e S
1 et e e e e e e 8
e o - o, e e s B o, ot
e e it e e e v e el e S e et
ot .

e
7. Bosed o helght reoding oout The Law f Conseretionof MatieHo doyos
~ i th owof coneratonof natte il come n 0 oy when bancing

e e

r ¥ . 3 gk .




image2.jpeg
0 = Yeactant
\1\ = pVvo ALY

8. Because the law of conservation of mass tells us that we cannot destroy or create —~
matter, we need to have the same number of atoms on the left as the right,

Instead of calling them the compounds on the left and the compounds on the right,

in chemistry we call the reactants the chemicals who react together to form the
products. For number 6, please draw circles around the lego particles which are
reactants and draw squares around the lego particles which are products

9. Please use the legos to balance the following equations:

a. _7- Na + 2 H.0 = Z NaOH  + Ha

Stamp:
s B - g % + H
s

b. _2 co + o 2 c0s + N2
= R o« 38 - & R

c. Fe203 + 3 co = 2 Fe + 3 co:
Stamp: v

v

s

&

10. For the lego particles, how could you determine the equations were balanced using
the legos? (What did you do?)

\Qﬁoéas on ot = legos on \’\@"\7’7
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A Balancing Act... F
\YOU;RE GONNA HAVERIBAD]
Let's look at different methods of how to balance a chemical equation. : :

The Match-Up Method:

£ o6 ~ NO = (e + N2
Steps
1. Determine the number of each atom on CAKL Clra =2
the left and right. N: 2
(Remember the subscript tells you how 4 |0:Z-%x2=4

many of that atom.)
2. To have the same number of each

atom on the left and the right, you

can ONLY change the D€ AN

Try the match- up method with your group!

( jﬂ\' %
1 Fe + (Sigsos Feasoms + (_2) wo
\"lxl_' \ %D 9
- SRR Yo =
2. 1| CL} CHe  + TF 7/‘2 02 -
Q A i \4

3 (Dkon  « H:POs  —
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Balance the following equations:

6.

10.

11

12

13

14

15.

16.

A7

18

19,

20

_ 7 xnos

_\_BzBrs

LBF3

_ 4t (NH4)3PO4
__\ SeCls

\ CHa4

72 A

. _Ca3(P04)2

| H3POs

+

5 __Pb(NO3)4

02

3 02
Cl
3 0

3H2

1 Ha(g)
_3 co(g)
____Pb(OH)
_Y Ha
7 H2504

S Hal

—

LKzCOz + _Z HNOs
7 BMNOs:s + o Her
___ B(SOs)3 + (_O_UF
_ | Pb3(PO4)s + _\Z NH4NO3
1 SeO2 + O Ch
__ CO2 + 2 HoO
NacCl
__ 7 AhO3
_7 NHs
;CBHls(l) + ¥ Ho
;Fe(l) + _2 Coxg)
;Pb(so4)z + 4 H0
_ZAcE o+ D he
_Z casos + ___ Ca(HaPOap
tﬂi_Pcm + A no





image5.jpeg
perurn of the Leg

P00 THroNS
/ R b
o H5 ook Loyvuken Oy

N
\_\:2_»2) =%
&
[ &°% .3 O:\ + V3 =2{+%
e 2
S X= S i -
3 =3
¥z 5
4_
NH, + 3 0, — NO 3 2 o)
3.3 :5 B gl=3
3 2 i
( 1NH1“\* S D





image6.jpeg
- %2 =2 ko2
NOz 2 [*x3 =3 NO4 : | x2 =2
Be 2 H |l ¥x2='2n
COxy ) COg, - | .
Bo B, +@HMD3 —»@&(mogé +O—%r

Lt g Bt [ x2= 3 B

B b Bre |Xb= 6

W lxe=tb e lxp=tb

NOz* | vz Ny Bt

.®gr3 + (B)las0; = B2 (S )5 @L

B: \x2=2  g-> -
b B K02 Sl F:rixu=\o ——
L 243 24, e \x\or\a

(_303 | #3%=73 SB&

-]MHA\— ), PO +@MN09,)4 —  Pby(0gy - +NH4N05
NH4* 3 x4 = W NHe” Vo~ x 12 2
Pos® | x4 = 4 ) Pog = + .
Pbo » [rx3=3 Plo - 3

NOz” 4%3 =12 NOg= | xH=4% 12 = \2





